Reproductive Technology

Based on some ideas of Professor Gareth Jones from University of Otago presented to a University of WA Department of Anatomy and Human Biology seminar.

Scenario 1 
A women’s health clinic not far from your house is on fire.  
You rush down to see what’s going on and are told that the following ‘beings’ are trapped inside the building.

1/
The 40 year old female director of the clinic.  An eminent researcher 
in female fertility.

2/
A 25 year old female carrying an anencephalic foetus, there to have 
her pregnancy terminated.
3/
A 24 year old female carrying an apparently normal foetus there for a 
routine ultrasound.

4/
A 38 year old infertile woman there to have 3 embryos implanted into 
her uterus.

5/
3, 16 cell embryos in a petri dish ready to be implanted into the 38 
year old woman.

6/
20 ‘doses’ of frozen sperm in the sperm bank

7/
A 20 year old ‘pro-life’ protester protesting about the performance of 
abortions at 
the clinic.

8/
A 20 year old lesbian feminist protester protesting at the exploitation 
of women’s 
bodies by the IVF program.

9/
20 frozen embryos belonging to 7 couples who are clients of the 
fertility clinic.

10/
30 frozen eggs belonging to 12 clients of the clinic.

Who would you rescue first ?  Who next ?  etc   Why ?  

Record your individual decisions in the table below.
	Order of 

rescue
	Which ‘being’ would you rescue
	Reasons

	First


	
	

	Second


	
	

	Third


	
	

	Fourth


	
	

	Fifth


	
	

	Sixth


	
	

	Seventh


	
	

	Eighth


	
	

	Ninth


	
	

	Last


	
	


When you have made your decisions and written them down compare and discuss your ideas with your neighbour in pairs. 

How similar or different were they ?

Did you change any of your rankings based on your neighbours ideas ?   Which ones ?
Now join with some others in a group of no more than 6 and share your rankings and reasons.

Did you change any of your rankings ?  Which ones ?

What did you learn about other people’s ideas ?

What did you learn about your values ?
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Scenario 2

5 families have the following ‘reproductive’ experience.
a/
Ann and Andrew conceived ‘naturally’ but the embryo did not implant in the uterus and was lost 
at one week without anyone knowing it ever existed.

They then conceived ‘naturally’ again and the foetus formed normally and was born healthy.

b/
Barbara and Brandon have tried unsuccessfully for 5 years to have children.  They enter an IVF 
program.  

4 eggs are collected from Barb’s ovary, fertilized with Brandon’s sperms and the embryos 
transferred to Barbara’s uterus.


2 embryos implant, develop normally and are born normally as (non-identical) twins.  The other 2 
embryos fail to implant and are lost.
c/
Claire and Charles have also tried unsuccessfully for years to conceive.  They also enter the IVF 
program.


8 eggs are collected from Claire’s ovary and fertilized with Charlie’s sperm.  3 embryos are 
transferred into Claire’s uterus.  2 embryos implant, one develops normally, the other dies soon 
after implantation and only one is born. 


The other 5 embryos are frozen for later use.


Later 3 more embryos are thawed and transferred to Claire’s uterus.  2 implant and grow normally 
and the other is lost.

The remaining 2 embryos are not needed by the couple (who now have 3 children) so they are 
thawed out and flushed down the sink (as is required by the law).

d/
Debra and Dianne are a long standing lesbian couple.  They decide they want to have children.  
They approach a fertility clinic and are told Intra-uterine fertilization by donor sperm is the 
procedure which best suits their needs.  

Debra (at 28, the younger of the couple) has her ovaries artificially stimulated by hormone 
injections to produce multiple eggs to maximise the chance of fertilization and implantation.  
Ultrasound is used to determine the exact time of ovulation and when it happens sperms from a 
donor are placed high in her uterus to meet the eggs.  


3 eggs were fertilized but only 2 implanted and Debra gave birth to healthy twins.
e/
Emily is a 33 year old single woman.  She would like to have children but does not have a partner.  
She realizes that her ‘biological clock is ticking’ and if she is to have a family she better get 
started before she gets much older.  

She approaches a fertility clinic and is also told that Intra-uterine fertilization with donor sperm 
would suit her.   In Emily’s case several eggs were fertilized but only one implanted and she gave 
birth to a healthy boy.
Are any of these people morally culpable?  
Are any more morally culpable than any others?

Note in each case embryos were lost in an effort to create new life and new life was created.
